Name ____________________________________________________
Math 2040, Exam IVa (Final Exam), Fall 2005

1. Find the derivatives of the following functions:
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c. 
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2. Given the function 
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 find:


a. 
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b. the slope of the tangent line at x=2

c. the equation of the tangent line at x=2

d. the values of x where the tangent line is horizontal

3. Find the derivatives of the following functions:


a. 
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b. 
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4. Find the derivative of the following functions:


a. 
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b. 
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5. The revenue function for the sale of charcoal grills is given by 
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 and the cost function for the same charcoal grills is given by 
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a. Find the profit equation for the sale of charcoal grills.


b. Find the average profit equation for the sale of charcoal grills.


c. Find the marginal profit function for the sale of charcoal grills.


d. Find the marginal average profit function for the sale of charcoal grills.


e. Find 
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 and give a brief interpretation of the results.


f. For what value of x is the profit maximized?

6. Consider the function 
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.  Sketch the graph of the function (use the interval [-3,6] for the x-direction and “ZoomFit” for the y-direction).  Indicate the x-values where the graph has a horizontal tangent, and the inflection points (verify with the first and second derivative).


[image: image15]
7. Find the absolute maximum and absolute minimum for the function 
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 on the interval [-2, 3].
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